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55.  𝑓(𝑥) = 10𝑥 sin (𝑥2) cos(𝑥2)4  
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1
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59.  𝑓(𝑥) = 3𝑒3𝑥 

60.  𝑓(𝑥) =
𝑒tan(ln(3𝑥)) sec (ln(3𝑥))2

𝑥
 61.  𝑓(𝑥) =
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√𝑥2+3
 

62.  𝑓(𝑥) = −3cos (𝑥) sin(𝑥)2  
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64.  𝑓(𝑥) =
sec (arcsin(𝑥))2

√1−𝑥2
 65.  𝑓(𝑥) =

1

𝑥 ln(𝑥)
 

66.  𝑓(𝑥) = −
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2
sin (
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2
𝑥) 67.  𝑓(𝑥)  = 3𝑥√𝑥2 + 2 

68.  𝑓(𝑥) =
−3𝑥(5𝑥3+2)

7 √(𝑥5+𝑥2)107  69.  𝑓(𝑥) =
𝑒arctan(𝑥)

1+𝑥2  

70.  𝑓(𝑥) = 1 
71.  𝑓(𝑥) =

−20 sin(ln(5𝑥)) arctan (cos(ln(5𝑥)))3

𝑥(1+cos (ln(5𝑥))2 )
 

72.  𝑓(𝑥)  = 5𝑥(𝑥3 +  𝑥2 + 2)4(3𝑥 + 2) 73.  𝑓(𝑥) =
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√1−𝑥2 arcsin(𝑥)
 

74.  𝑓(𝑥) = 𝑒3𝑥sec (𝑒3𝑥)2  
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76.  𝑓(𝑥) = 2𝑥𝑒𝑥2
 77.  𝑓(𝑥) = 2cos(2𝑥) cos(3𝑥) − 3 sin(2𝑥) sin(3𝑥). 



78.  𝑓(𝑥) =
−5(4𝑥3+1)

6 √(𝑥4+𝑥)116  79.  𝑓(𝑥) =
20 ln (3𝑥5)
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80.  𝑓(𝑥) = 5𝑥4 sec (𝑥5)2  
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82.  𝑓(𝑥) =
3 ln (5𝑥)2

𝑥
 83.  𝑓(𝑥) = 12 cos(3𝑥) tan (ln(𝑒sin(3𝑥))) sec (ln(𝑒sin(3𝑥)))
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84.  𝑓(𝑥) =
−6𝑥

(𝑥2+2)4 85.  𝑓(𝑥) =
−𝑥(3𝑥+2)
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86.  𝑓(𝑥) = 1 
87.  𝑓(𝑥) =
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√1−tan (𝑥)2
 

88.  𝑓(𝑥) =
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𝑥 ln(𝑥)
 89.  𝑓(𝑥) =

3arcsin (𝑥)2
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90.  𝑓(𝑥) =
2 ln(𝑥)

𝑥
 91.  𝑓(𝑥) = 9𝑥2(𝑥3 + 1)2(5 + 𝑥2)4 + 8𝑥(𝑥3 + 1)3(5 + 𝑥2)3 

92.  𝑓(𝑥) =
−3𝑥(5𝑥3+2)

(𝑥5+𝑥2)4  93.  𝑓(𝑥) = 2𝑥 cos(𝑥2) 

94.  𝑓(𝑥) = 20𝑥4 tan (𝑥5)3 sec (𝑥5)2  95.  𝑓(𝑥) = −
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100.  𝑓(𝑥) =
2arctan(𝑥)

1+𝑥2  101.  𝑓(𝑥) = cos(𝑥) 

 

 

 

 

 

 

 

 

 

 

 

 

 
“Only he who never plays, never loses.” 
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